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ITAPATATIKOX

The tense IIAPATATIKOZX (continuous past, signifying an action that took place in the
past over a period of time) is formed in the following way
augment (g) + present stem + past tense ending

-oe
-ate
-0V -0LVE

£-0v-a

§-81v-g¢

§-81v-¢

Stv-ope

div-ate

§-dwv-av / Siv-ove

The augment (¢) must always be accented, unless this conflicts with the accenting rule (the
accent can be placed only on one of the three syllables closest to the right edge of the word)
when the augment (g) is not accented it drops out of the formation. Thus all
ITAPATATIKOZX forms that would have four syllables with the augment do not carry the
augment.

Practice forming the [IAPATATIKOX form of the verb

Ve I drink
YPOAPW I write
Swfalm I read
SEvm I tie
UEV® I stay
OTEAV® I send
TPEYM I run
nollw I play
BAET® I see
pafw I sew
UOLYELPEV® I cook

Translate into Greek (yesterday = y0ég, day before yesterday = npoybég all day = 6An pépa,

package = déua)

Yesterday you were reading all day
Yesterday he was cooking all day

The day before yestedrday we were watching television all day
Yesterday I was sending packages all day

Phrase of the day
Tt B mdpete;
What will you have?



